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Uppgift 1
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Uppgift 2
a) Apply simply Sabine’s law

b) Sabine’s law again putting in the lamp.

Uppgift 3
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Uppgift 4
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Uppgift 5
5 oy Ludet bajs vunt talorens huvud ~ diffrelchion nga frelueuter
hors bisk da diffrelibonen odar med Buaude sztauba (relabivt hindrets shorew),
by Resonens uppstar for vissa felvenser wellen hudl wotstiende yor.

Med avstindetr wellen .jkom. Uan resovians fre\venserna rolenes ut,

C._) Tounerne or Worrelersde ocly beroeude ’Pi ver pvaw P(‘\‘-C’-‘T\(‘ huvdd
) blir der konstrulhv, resp destrulch wderfereus hogre reSFeva've laﬂm,h"i”;"z-
A) L63'3 upp Fr'\H'_, Vif) och mat  samt Wnecka och recis"s**trk ngvamsm’

Di. kawv  E-wodul beraluey,

Uppgift 6
a) Apply the mass-law and substitute some values (they have to get the coincidence frequency
to get the upper limit to which the mass law applies).

b) R=Lsending-Lreceivingt10l0g(A/10) and explain the terms.



